Genuine fines & shares

~—

QO D - @;
@ gQ DO R 2051 e
RN AR o0 SNeni ] T Lt S et

* .l _'_I -_--'- / :-‘ ;::-‘ | ‘.’,’fl" ,.'.': ;&..\»':".‘i:-.. § e '. - '_.;_,- & ". . i :'\1?.'4 J Y v

(KJxonGSKILDE

Moving agriculfure ahead



Vibro Master

Germinator

Vibro Crop

Vibro Flex

Vibro Till

Delta

Delta Flex




. F
» )

Vibro Master

101 000 669
Vibro-S

32x10mm

w. reversible point
35x6mm

: BE4 mm
¢ 160 mm
© 394 mmi
1 115mm
: 105mm
447

101 000 740

Vibro Super-Q
32x12mm

w. reversible point
35x6mm

101 000 947

Vibro Super-S
45x1Tmm

w. reversible point
35x8mm

1 B61 man
o 145 mm
= 416 mm

c 12E mm
T 116 man
L

101 000 725
VTM-tine
50x10mm

101 000 701
Clamp VIM
for bar size 50x13mm

101 000 507 Clamp for

n tine 32x10mm incl. nut

101 000 742 Clamp for
tine 32x12mm incl. nut

101 000 777

- Clamp Super-$
Clamp for tine 45x11Tmm

Bar size 50x13mm

b 101 000 551
— Goose foot share 70x6mm
-~ (2 holes) w. bolts/nut

A 804 mm
! B: 185 mm
C: 448 mm
N . 101 155 311
e D¢ 140 mm Clamp for tine 45x11Tmm 101 000 706
F: 58 Bar size 60x60mm -
- 70x6mm Goose foot
s G: 13 mm J (1 hole) share w. bolt/nut
101 000 646 101 000 640 101 000 953
Track loosener Reversible share Reversible share 35x8mm
share 35x6 mm 35x6mm w. bolt/nut
w. bolt/nut w. bolt/nut




Germinator

101 000 564 101 200 236 = 101 000 507
Vibro-Q Vibro SP \ :
30%10mm 32x10mm Clamp for tine 32x10mm
w. reversible share w. reversible share :
35x6mm 35x6mm n
el A 101 200 231
- | Trackloosener share 35x6mm
. “I w.bolt/nut
I
A & : 508 mm & 388 mm
. B: Smm © B: 100 mm
C: damm C: 286 mm
il E‘ :‘m O: &1 mm
| | F ' p i E: S mm
101 000 640 101 200 229
Reversible share 35x6mm for Reversible share 35x6mm for
Vibro Q w. bolt/nut Vibro SP w. bolt/nut

Vibro Crop

101 000 600 (
Universal tine
32x10mm
W. row crop share.
135x3mm =
|
e .. K "\.

101 000 760
VCO tine
32x12mm

W. row crop share
135x3mm

101 000 644
Row crop share 105x4mm
w. bolt/nut

101 000 717
Row crop share 185x6mm w.o. bolt/nut

& L 62T mm 1
L] : b48 mm =132 mim
- ;150 mm 9 - 295 mm “
1 IEB i :1:||'|'.'|'| A/}.—‘ -
Rl I -
a 100 323 040 Bolt+nut
101 019 785 101 019 786 101 000 507
Row crop share 135x3mm Row crop share 200x3mm Clamp for tine 32x10mm incl. nut
w. bolt/nut w. bolt/nut

ol

101 000 742 Clamp for fine 32x12 mm
incl. nut




Vibro Flex

105 000 510 105 150 096 105150 135
VF tine VFM tine VFM tine
150x10mm 150x12mm 150x12mm
w. reversible share w. reversible share w. reversible share
65x8mm 65x8mm 110x8mm
BI Bl BI
Ll & T2Emim & i:. BIE mm & i:. a!zrn-r:
¢ 2 & . C: Gbmm e C: 676 man
h Oz 130 e O 11w D Ium
L B Al P L P

105 000 002 VF spring 150x10mm
105 000 128 VF stem 50x13mm

105 150 055 VF spring 150x12mm
105 150 056 VFM stem 50x13mm

105 150 055 VF spring 150x12mm
105 150 056 VFM stem 50x13mm

105 000 655
VFM tine
150x12mm
incl. wings 260x8mm
&
share 80x8mm

T EMmm
T 157 mm
: &E2mm

;132 mim
= 138 mami

105 150 055 VF spring 150x12mm
105 150 056 VFM stem 50x13mm

mo ame

105 000 504
Reversible share
65x8mm
w. bolts/nuts

A

available as: 65x6mm 105 000 483
w. bolts/nuts

105 000 649
Share for mixing 80x8mm
w. bolts/nuts

\ )

Use with 105 000 783

105 000 514
Reversible share 110x8mm
w. bolts/nuts

available as: 110x6mm 105 000 485
w. bolts/nuts

105 000 783
Wing for mixing 260x8mm
w.0. bolts/nuts

it

Use with 105 000 649

105 000 486
Goose foot share 140x6mm
w. bolts/nuts

\k\

105 000 584
Goose foot share 260x8mm
w. bolts/nuts

A

available as: 260x6mm 105 000 487
w. bolts/nuts

105 000 488
Grass share 60x6mm
w. bolt/nut

N




Vibro Till

101 000 725
VM fine
50x10mm

101 000 902
VTH tine
w. 185x8mm sha

105 150 305
VFM 6000 tine
150x12mm
Wings 260x8mm
&

Share 80x8mm
incl. clamp+spacer,
bolts and nuts

B E¥ o
! A 504 mm PR B: 157 mm
B. 158 mm - i ©: BB mim
C: 48 mm [ P
A T N mm
. Ih_: 140 mm ) ? .E::_ e E: 138 mm
E: 1Zmm ‘ 105 150 300 VFM spring 150x12mm
105 150 056 VFM stem 50x13mm
o G A= mm 101 000 836 VTH spring 65x16mm 105 150 299 Clamp
101 000 837 VTH stem 50x10mm 105 150 298 Space f. clamp
101 000 551 105 000 504 105 000 649

Goose foot share 70x6mm (VIM & VTH)
w. bolts/nuts

Reversible share 65x8mm (VFM)
w. bolts/nuts

™,

Share for mixing 80x8mm (VFM)
w. bolts/nuts

M12x60: 100 323 306
Use with 105 000 783

101 000 552
Goose foot share 105x8mm (VIM & VTH)
w. bolts/nuts

105000 514
Reversible share 110x8mm (VFM)
w. bolts/nuts

105 000 783
Wing for mixing 260x8mm (VFM)
w.0. bolts/nuts

b

Use with 105 000 649

101 000 553
Goose foot share 185x8mm (VIM & VTH)
w. bolts/nuts

105 000 486
Goose foot share 140x6mm (VFM)
w. bolts/nuts

105 000 584
Goose foot share 260x8mm (VFM)
w. bolts/nuts

101 000 774 : Clamp for
VTM on bar size
63,5x63,5mm

e

101 000 839 : Clamp for VTH
on bar size 63,5x63,5mm

P

" 1 N\ &;\ ) k{\
\ b -l
105 000 488

Grass share 60xé6mm (VFM)
w. bolts/nuts




71209026470
Share point, 120x10 mm
w.o. bolt/nut

71209026467
Wing share RH, 200x10 mm
w.0. bolts/nuts

71209026464
Wing share LH, 200x10mm
w.0. bolts/nuts

Bolt M12x35 mm 71365212350 Bolt M12x35 mm 300 304 293 Bolt M12x35 mm 300 304 293
Nut M12 300 316 053 Nut M12 300316053 Nut M12 300316 053
Also available as 210x10 mm 71209026469 Also available as 210x10 mm 71209026468
71209026471 71209026473 71209026472
Shin, straight Shin RH, Shin LH

w.0. bolt/nut

™

w.o. bolt/nut

w.0. bolt/nut

Bolt M12x65 mm 71365212650 Bolt M12x65 mm 71365212650 Bolt M12x65 mm 71365212650
Nut M12 300 316 053 Nut M12 300 316 053 Nut M12 300316 053
Delta Flex
372280400 372280500 372280600
Share point, 80x12 mm, w. short bolt/w. | Share point, 80x12 mm, w. long bolt/w. Shin, straight w. bolt/nut/
{ (M12x85)
Bolt M12x67 mm 300 304 313 Bolt M12x85 mm 300 304 314 Bolt M12x85 mm 300 304 314
Nut M12 300 316 053 Nut M12 300 316 053 Nut M12 300 316 053
Washer 300 332 086 Washer 300 332 086 Washer 300 332 086
101003131 101003132

Wing share RH, 10 mm, w.o. bolfs/nut

8

Bolt M12x60 mm 300 304 310
Nut M12 300316 053

Wing share LH, 10 mm w.o. bolts/nuts

Bolt M12x60 mm 300 304 310
Nut M12 300316 053




¢ The special rolled convex steel used in our .
vibrating tine production is designed to
give maximum tine lifespan. As opposed to
standard flat steel, the specially rounded
comers prevent the appearance of cracks
as the tines are shaped.

e By using this special steel profile the tines
are able to vibrate more quickly and more
power-fully.

* High quality Kongskilde alloy steel ensures

long lifetime of both tines and wearing

parts.

Exact identification

¢ Logo and name is stamped on top
of the spring

¢ "K" and code for production series
stamped in the spring

¢ All shares are marked with a
stamped in logo “K-Made in DK +
year”

adding value
to the green world

Genuine Kongskilde tines are subjected to
a special shot peen bombardment pro-
cess (as illustrated above). This ensures
that any potential fatigue cracks from the
shaping process are closed up, thereby
increasing the tine's lifetime.

¢ The share aftack point is directly beneath
the tine fixing point. This results in an even
working depth, even when the tine is
loaded.

(K)xonGskiILDE
Moving agriculture ahead

Kongskilde Industries A/S

Tel. +45 33 68 35 65

mail@kongskilde.com
www.kongskilde.com

101002316 KK/GB/Tines/BRO/0911

Subject to alternative changes reserved



